.     Applications of Quadratics    .
(Ex 9.01 pg100 #1)
When a number is squared, and then 1 is subtracted the result is 8
Equation



            n2 – 1 = 8

Rearrange to = 0

            n2 – 9 = 0

Factorise



(n – 3)(n + 3) = 0
Solve




n = 3 or -3 
John is 6 years old, and Amy is 2 years old. In how many years will the product of their ages be 96?

Product means multiply

n = number of years from now
John will be n + 6 years old, Amy is n + 2 years old

Equation



(n + 6)(n + 2) = 96

Expand




  n2 + 8n + 12 = 96


Check which answer 
Rearrange to = 0

   n2 + 8n – 84 = 0



is appropriate!
Factorise


    (n + 14)(n – 6) = 0
Solve




  n = -14 or n = 6        
Answer must be in 6 years time
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